Events / 40 GeV

Data-Fit

137 fb! (13 TeV)

5
10 T — I B B B B I R R R R RRRRR R L
CM S ¢ DataSR | — Signal 1.0 TeV, narrow
104 =axsss Data SR fit ---- Signal 1.0 TeV, Ty / my = 5% —
:"~.‘ Fit uncert. 68% CL —— Signal 2.6 TeV, narrow =
103|=_ Fit uncert. 95% CL -~ Signal 2.6 TeV, 'y / my =5% __|
= Signal 4.0 TeV, narrow =
102;_ Signal 4.0 TeV, 'y / my = 5% —;|
10? =
1=? =
1 B T
10 = —
) B T
10 “ g
10_3 _E L1 ||'| | ||||||||||||||||||||||||||||||||||||.|..
RN RRRRRRRR LN LRI S
4 m
= 2 ]
@
& 0
0 -2 -
_4_ | L oo b oo b b bl

2

3 4 5 67
mJy[TeV]





